4] f(x)E x® - 3x + 22 W 1 2] Yo z]7} 30], % —4x 4 3
S=2 vz o] U7 3xE o, f(x) & x2 - 5x+ 622 U= 1<
U 2] =7

@ 3 @ 3x+3 ® 3x-3

a=6,b=-9
SUHAE 6x -9




TFH4] 0(x) 2 R(x) ol Hhate] x7 -2 = (¥ + 1)0(x) + R(x) 7}
Y ), 0(1) 9 %27 (5 R(x) o] A4 ol3 olstolrh.)

On @ 2 ® 4 @ 8 ® 16

=

(x) = ax® + bx + c(a, b, ci= A7) 2 ot
2 =x(x*+1)Q(x) +ax®> + bx+c
A x=0& HASIH -2 =c

a=0, b=-1°B2 R(x) = —x—2
LxT=2=(+x)0(x)-x-2
gl x =12 tYstA
~1=20(1)-3°]22

~0o1)=1

©Q




xoll e A f(x) & (x-a)(x +b), (x+b)(x—c), (x—c)(x—a)
2 e Uo7t 42 x4+ 2, —x+4, 02 W, A a,b,c 9

o7

@)s @8 @12 @ @-12

® 16

oL
=]

[e]
=

f(x)=(x-a)(x+b)P(x) +x+2---O
=(x+b)(x-0c)0(x)—x+4---@
=(x-c)(x—a)R(x)---®

L] 2) G elo] o

1) @ oA fla) =a+2, @ A

fla)=0
S>a=-2

i) @ oA f(-b) = -b+2, @ A
f(-b)=b+4
>b=-1

iii) @ A f(c) = —c +4, @ A
fle)=0
>c=4

S.abc =8




oA f(x) B x - 22 YRS ] & Q(x) 2 ot YAl 5
ol1, & Q(x) & UA x + 322 A Uz 7} 30t} o, f(x)
E x+ 322 Y YHA]E?

o1 @-10 ®9 @-9 O3

Uz g zlel 5] f(x)E x+ 328 Uie YA E £(-3) o]t
f(x) = (x=2)0(x) + 54

x=-32 Y3 f(-3) = (-3-2)0(-3) +5

O(x) & x +32°2 Lrglg 1o e A7} 30|82 g(-3) = 3
. f(=3) =-10




oA f(x)E x - 12 YHRH 5ol A(x), U7 g0l x4+ 22
LHF 5ol B(x), YH A 7L b2l ek, ojuf, A(x) & x+ 2 Uhe
YA E ¢, b2 JERHH?

fX)=x-1DAx)+a--- O
f(x)=(x+2)B(x)+b---@

O, @ 42 x =1,x=-25 Ys5tH
f)=af(-2)=b

A(x)E x+ 2= U UM A= U214 2o oJsf A(-2) o]t
@ x = -25 Yt
f(=2)=-3A(-2)+a=b
a->b
3

LA(=2) =




6. O fNEL+x+ 12 YFAN+27FEY, I HxEx-12
UFd 27 F=ot o] b f(x) & x% - 12 Yis UHZAE R(x)

2T, JR(2) ] 3hE TohE?

o oxn  o2a @u o1

B \

f(x) = +x+1)0(x) +3x+2
= +x+D{(x-1Dp(x)+2}+3x+2
=(x3-1)p(x) +2x2 + 5x + 4

SR(x) =2x2 +5x+4

" ZR(2) =11




7. TRFA 005 45 0312 AEAL B a2 4 a1 2 RS T
o220

® x2-3 @ x24+x-2 ® —-x*-1

@—x2+x ® x-1
S5 )

2005 4 x5 4 ¥+ 1 =3+ +x+1)Q(x) +ax® +bx+c=
(x+1)(x* +1)0(x) + ax® + bx + ¢ FHl x = -12 HYsHHA
a-b+c=-2---0Q

(x2)1002 % x + (x?)2x x + x2x x + 1

= (x+1)(x® + 1)Ox + ax® + bx + ¢ °| A

optol 22 = —1% oAl

X+x—x+1=-a+bx+c

x+1=bx+c—a

wb=1c-a=1---©

3,0 a=-1,b=1,¢=0

ST UYHAIE -2 +x

B )
x2005 4 15 4 (3 1

=3+ +x+1)Q(x) +ax®> +bx+c
=(x+1)(x2+1)0(x) +ax? +bx+c

o] = —1.& HASHE FHo] x+ 1

Z e A48 22 112 e A7 x 4 1
wtA ax? +bx+c=a(x®*+1) +x+1
x2005 4 15 4 (3 1

= (x+ )+ 1)Q(x) +a(x® +1) +x+1
=+ D{(x+1)0x)+a}+x+1

Tl x = -1 HYsHH -2 =24
SLa=-1

R YRR 22 4 x




8. x4 f(x)7F Ao A u, voll St f(u)f(v) = f(u+v) +
flu—v)Z7H AR o, £(3) 9] #4127 (&, f(1) = 1°]2kal g}

-1 @2 @2 @1 ® 5

f0) . f2)=-1
L fB) =R+ =7r2)f1) - f(2-1)




f(x) = x2+a°l thoto] f(x?)2 f(x) 2 Uro] Bolxitt, o] off, £(0)
= F51H? (HF a#0)

@ 2 @-2 ®0 @ 1 @

B

fx)=x*+alA f(x*) =x'+a
()2 f(x) 2 o] GojAB R
¥ +a=(x>+a)Q(x)

ol 2 = —q % o}
a’*+a=0,a(a+1)=0
La=-1(-a#0)

flx)y=x>-1 . f(0)=-1




